Fundamental of Math

Week 9
Finding Equations of lines:
Telegram : @azizhelp
sdaka Al dlaleal) o)
O o pali (Al g Ailud) pac LY S
y=mx+Db

m = slope b= y-intercepts & ¢usy

Slope = %7 y — intercepts (O, — %) .Write the liner equation.
s dah Al) dlibaal) S|

:hibead) (AN (2 ga5

y=mx+b
-7 7
T
Find "b" ifm=-2 . (2, 8)
y-intercepts gl J) il o gllaall
Ol (ol
y=mx+Db
8=-2(2)+b
8=-4+b

b=12




(2,5) (4,7)
Find the slope and write the equation line?
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Write an equation of a line that is ""perpendicular*
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Inconsistent and independent **

3x+y=5 X-2y=4
Solve for y and graph:
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Solving by Substitution:
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Solving by Elimination:
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